3 (a) Complete the Profit and Loss Account for Drivetime for the year ended 30 April 2012 by filling in the shaded boxes in the table below.
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3(a)  Complete the Profit and Loss Account for Drivetime for the year ended 30 April 2012
oy filling in the shaded boxes in the table below.

Drivetime
Profit and Loss Account
for the year ended 30 April 2012
£ £
Sales revenue 160 000
Cost of sales 20000
Gross profit
Expenses
Lease of cars 15000
Salaries 60 500
Other costs 8500
Total expenses
Net profit

(3 marks)

3(b)  Using item C and your answer to question 3(a), explain why the bank has asked to
see Drivetime’s Profit and Loss Account for the year ended 30 April 2012.





3 (b) Using Item C and your answer to question 3 (a), explain why the bank has asked to see Drivetime’s Profit and Loss Account for the year ended 30 April 2012. (4 marks)

3 (c) Using Item C, explain the financial benefits to Jayne of selling shares to Devindra. (4 marks)

3 (d) Do you think that Jayne should finance the expansion of Drivetime by taking out the bank loan or by selling shares to Devindra? Use Item C to justify your answer. (9 marks)

